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How do | integrate that!

Is the function of a standard form?

YES NO
/ 7‘:;@2\ 1z
Use standard integral functions e.g.5¢ , sin(3x-1), or (4x+3)

and adjust for constants 5 ) , -
Is it made up from two (parametric) equations?

9
y=ft), x=g(t)eg. [ ydx, x= 1t y=2t(3-1)

YES | |
PR
dx NO
use [ydx = [y — dt and change the limits 7

Is it in the form?

frx)
, YES | or f'(x)[f(x)]"
);r((x))dx=ln|f(x)|+c <« | A \

[P @I erde=C20 1 e % —1) NO

l

- - . ax+b o . -
Is it in the form ———— or other firaction?
Cc)(x

(x+c)(x+ad)
YES [
A |
Use partial fractions to
simplifiy the integral NG

l

Is the integral a product of 2 functions?

YES [

«— \
dy NO
[ reg dx ix !
Can you use a trig identity to
Use the Se pamat‘;ﬁ@n of variables technigjue create something more
1 famililar?
2= f@g0) = [ ——dy milla
dx 9g») \
Use integration by parts YES
to simplify the integral
T x
dv
uo-dx Then use one!

Use a substitution to make things easier
(remember to find dx and replace so the integral is in respect to u)



